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QUESTION 1

For what does an interaction operator define semantics? 

A. a particular message 

B. a particular interaction 

C. a particular combined fragment 

D. a particular interaction fragment 

Correct Answer: C 

 

QUESTION 2

What are the kinds of structured nodes? (Choose two) 

A. loop 

B. action 

C. partition 

D. conditional E. object node 

Correct Answer: AD 

 

QUESTION 3

What is correct about a profile? (Choose two) 

A. is applied to a package 

B. is applied to a reference metamodel 

C. cannot be used without its reference model 

D. can dynamically change its reference metamodel 

Correct Answer: AC 

 

QUESTION 4

If a central buffer has one value and three outgoing arrows go to three actions, how many of the actions will receive the
value? 

A. none 
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B. one 

C. two 

D. any number 

Correct Answer: B 

 

QUESTION 5

A protocol state machine can be used to describe which aspect of a component? 

A. internals of a component 

B. configuration of an assembly 

C. signal flow among connectors 

D. external contract of a component 

Correct Answer: D 
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